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QUESTION 1

With regard to WAF in OCI, which of the following statements are NOT customer\\'s responsibility? Select TWO
answers. 

A. Configure WAF policies for websites 

B. WAF edge nodes with High Availability 

C. Configure Bot Managementstrategies for a website traffic 

D. Import latest OWASP Core Rule Sets 

Correct Answer: BD 

 

QUESTION 2

How can you convert a fixed load balancer to a flexible load balancer? 

A. There is no way to covert the load balancer. 

B. Use Update Shape workflows. 

C. Delete the fixed load balancer and create a new one. 

D. Using the Edit Listener option. 

Correct Answer: B 

 

QUESTION 3

As a lead Security Architect, you have tasked to restrict access to and from the worker nodes in pods running in Oracle
Container Engine for Kubernetes? 

A. Cloud Guard 

B. Vulnerability Scanning 

C. Security Lists 

D. Identity and Access Management 

Correct Answer: C 
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QUESTION 4

Oracle Object Storage achieves data durability by which of the mechanisms ? Select TWO correct answers 

A. Service Gateway 

B. Redundant Storage across availability domains 

C. Redundant Array of IndependentDisks 

D. Object Versioning 

Correct Answer: BD 

 

 

QUESTION 5

When using Management Agent to collect logs continuously, which is therequired configuration for OCI Logging
Analytics to retrieve data from numerous logs for an instance? 

A. Source-Entity Association 

B. Entity - Source Association 

C. Agent - Entity Association 
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D. Entity - Agent Association 

Correct Answer: A 
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